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Use Case Overview

e Purpose
o Allowing the user to update his or her goals

e [unction

o Updating the user’s performance information for a specific body part
m The user clicks on “the updating performance” link, which will prompt him or her to

fill out a few questions
° Did you hit your goals?
° Do you feel stronger?
° Have you been sleeping well?

m Theuser’s inputs to the questionnaire will be yes or no
m The program takes the yes or no as 1 or O, respectively
m The program uses an algorithm to update the user’s goal
e There will be an increase or decrease in the amount of weight the user should
be lifting after the algorithm finishes processing the information



Reading Guide for Use Case Code

e Goal Increase Percentage > 100%
o Increase the amount of weight by 5 or more pounds

e Goal Increase Percentage < 100%
o Decrease the amount of weight by 5 or more pounds

e While loop

o Traverses through each element in the array, increasing or decreasing each value

e Outer If-else statements
o Uses the input values to determine goal change factor

e Nested If-else statements
o Determines the specific number, which is a multiple of 5, to round to.



def Updating(x, inputl, input2, input3).rb

UpdateExerciseGoals(array, inputl, input2, input3)

index @

inputl — 1 inputz — 1 input3
index < 5
temp = array[index]
array[index] = (arraylindex]+1.1).floor
(array[index]-temp) = 5
array[index]-= (arrayl[index] % 5)

(array[index]-temp) 5

array[index]+=(5 - (arraylindex] % 5))

index:

inputl 1 input2 1 input3
index < 5
temp - array[index]
array[index] = (arrayl[index]+1.05).floor
(array[index]-temp) > 5
array[index]-= (arraylindex] % 5)

(array [index]-temp) 5

array[index]+=(5 - (arraylindex] % 5))

index+=1

inputl — 1 input2 — @ input3
index = 5
temp = arraylindex]
array[index] - (arraylindex]+1.2).floor
(array[index]-temp) = 5
array[index]-= (array[index] % 5)

(array[index] -temp) 5

def Updating(x, inputl, input2, input3).rb

array[index]+=(5 - (arrayl[index] % 5))

index:

inputl 0 input2 1 input3
index 5
temp - arraylindex]
array [index] (array [index]+8.85) . floor
(temp - arrayl[index]) < 5
array[index] ((array[index] 5])
(temp - array[index]) 5

array[index]+=(5 - (arrayl[index] % 5))

index

inputl @ input2 a input3
index 5
temp = arraylindex]
array [index] (array [index]+8.8@) . floor
(temp - arrayl[index]) = 5
array[index] ({array[index] % 5)])

(temp - arrayl[index]) 5

array[index]+=(5 (array[index]

index:

inputl — @ input2 1 input3
index 5
temp = arraylindex]
array [index] (array [index]+8.9).floor
(temp - arrayl[index]) < 5
array[index]-= ({arrayl[index] % 5))
(temp - arrayl[index]) 5




Code

def Updating(x, inputl, input2, input3j.rb

array[index]+=(5 - (array[index] % 5))

met_goals
feel_strong

input3 = @ feel_rested
array [index] X R
arraylindex] - (array[index]+1.1).floor chest - UpdateExerciseGoals(chest, met_goals, feel_strong, feel_rested)
(array[index]-temp)

array[inde: 5
(array[index]-temp) — 5 puts(chest)

arraylindex]+=(5 - (array[index] % 5))

index:

index < 5
temp = array[index]
array[index] - (array[index]+0.7).floor
(temp - array[index])
arraylindex]-= ((array[index] % 5))
(temp - array[index]) == 5
15
array[index]+=(5 - (array[index] % 5)) 25
35
45
55

[Finished in 8.1s]
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E Line 154, Column 1




